Sample FE Exam Problems

Solutions

6. What to do: Find an Effective Interest Rate from a Nominal Rate and Vice Versa

1. 1% per month is a nominal 12% per year compounded monthly, which is the same as 12%/4 = 3% nominal per quarter compounded monthly. Also, computing the effective rate for nominal 12% compounded monthly, is

(1 + 0.12/12)12 – 1 = 0.12683

All values listed are correct.

Answer is (d)

2.
For a nominal rate compounded monthly equivalent to an effective 12% compounded monthly, find r.

        0.12 = (1 +  r/12)12 – 1

(1.12)1/12 = (1 + r/12)

      r/12  = 0.00949

           r = 0.11.39  or  11.39%

Answer is (d)

3.
Answer is (d)

4.
Answer is (c)

5.
Answer is (a)

